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Sr Questions Answers Choice

1 The noun of adjective allent is.
A. More allent
B. Dumb
C. Most allient
D. Allence

2 The noun of adjective difficult is.
A. More difficult
B. Most difficult
C. Difficulty
D. Difficultier

3 The noun of adjective weak is.
A. Weaker
B. Weakness
C. More weak
D. Most weak

4 The noun of adjective blind is.
A. Blindness
B. Blinder
C. Blindest
D. More Blind

5 The noun of adjective happy is.
A. Happlar
B. Happlest
C. More happy
D. Happiness

6 The oxygen rich blood flow to her brain and other organs until proper medical treatment.
The underlined word is a/an

A. Verb
B. Conjunction
C. Adjecive
D. Adverb

7 The antonym for word typlcal is.
A. Classic
B. Nomal
C. Unusual
D. Model

8 Tina was apprecilated for her effort by.
A. Lady's family
B. Doctor
C. Both lad's family and doctor
D. By the crowd

9 Tina and her mother took the lady to.
A. Their home
B. The market
C. The hospital
D. The cinema

10 Tina and her mother Accompanled the lady to the hospital the synonym
A. Went together with
B. Compianed
C. Stayed away
D. Went away


